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Q1. How can we say that Indian Judiciary is independent? 
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Q2. India has an integrated judicial system. Explain 
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Q3. In the following illustration, fill in each tier with the judgments given by 

the various courts in the Sudha Goel case. Check your responses with 

others in class. 
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Judiciary 
 

Q1. How can we say that Indian Judiciary is independent? 

Ans.  Indian judiciary is considered an independent institution because:  

i. The other branches of government – the legislature and the 

executive – cannot interfere in the work of the judiciary. 

ii. The courts are not under the government and do not act on their 

behalf. 

Q2. India has an integrated judicial system. Explain 

Ans. In India, we have an integrated judicial system, meaning that the 

decisions made by higher courts are binding on the lower courts. Another 

way to understand this integration is through the appellate system that 

exists in India. This means that a person can appeal to a higher court if 

they believe that the judgment passed by the lower court is not just. 

Q3. In the following illustration, fill in each tier with the judgments given by 

the various courts in the Sudha Goel case. Check your responses with 

others in class. 

 
Ans. Lower Court (Trial Court): Laxman, his mother Shakuntala and his 

brother-in-law Subhash Chandra were sentenced to death 

High Court: Laxman, Shakuntala and Subhash Chandra were acquitted. 

Supreme Court: Laxman, Shakuntala were given life imprisonment while 

Subhash Chandra was acquitted for lack of sufficient evidence. 

 


